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1. An equation for the tangent line to the parametric curve
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3. The area of the parallelogram that has the vectors

MASTER

(correct)

#=(1,-2,3), ¥=(2,—1,0)
as adjacent sides is equal to
(a) 36 - "R
(b) 46 Ty b _‘_Jl :
(c) 5v6 l il
(d) 26 A
(¢) 66 - 48 oy B
0\ '7&)(?/1\
=> aren = Jm :W
-3\{6

to the yz-plane is

. An equation for the plane that passes through the point (1,2,3) and is parallel
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8. The directional derivative of f(z,y) = zy at P(2, —1) in the direction of the
vector ¥ = (1,1) is equal to
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11. The minimum distance from the point (—1, —2,0) to the surface z = \/1 — 2z — 2y

is equal to

(Hint: To simplify the computations, minimize the square of the distance)
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15. The average value of f(z,y) = 2% + y* over the square region with vertices
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§N*1= 17. Let d > 0. If the volume of the solid bounded by the planes
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18. The point with spherical coordinates (p, 6, ¢) = (4, -g, g) is represented in rectan-
gular coordinates by
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20. The volume of the solid bounded above by the sphere 22 + 42 + 22 = 4 and below
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